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Expressions Revision Starter
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Challenge

2(b + 4) =

20+ %=(-7
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Solve this equation for b:
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Today's Learning:

To solve linear equations.

Solving Linear Equations ‘ , \
Always do the same to both sides. ’5 q ”
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Make up a question for your neighbour to solve.

Starter ""1'“
. - -
1 simpliy: 5x+6_(§4‘5v1 2) _ »-%

x-9 . (ad)as) T =3

2) Solve for T: 5T -2 =4(T-2)

57-2 =4T-2
7_2 = - g
T= - Today's Learning:

] To solve al ici ions.
3) Simplify 8 = il 7\5‘1 o solve algebraic inequations
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Solving Inequations ’5 ho \ 13

< means less than

> means greater than

< means less than or equal to

means greater than or equal to

Solving Inequations
< means less than

> means greater than

< means less than or equal to

means greater than or equal to

Y% To solve, we treat the inequality like an equals sign, except
when we multply or divide by a negative number.
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Think of 4 numbers that fit each inequality: ‘H_‘—bq
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Solving Inequations

< means less than

> means greater than

< means less than or equal to

means greater than or equal to

Y& To solve, we treat the inequality like an equals sign, except

o ) Solve these inequations:
when we multply or divide by a negative number.
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